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Read the following review of Oliver Twist carefully, and then in your
ANWER BOOKLET answer all the questions that follow. Your answers
should be based on the text.
Oliver Twist is one of Charles Dickens most famous novels and it tells the tale of a
young orphan named Oliver. Oliver endures difficult times in I9th-century London, a city
full of poverty and crime. The story, like many of Dickens’ other novels, paints a vivid
picture of life for the working class, especially children, during the industrialization of
England.

Because Oliver is kind and timid nature, he is often taken advantage of. One of the
novel’'s most famous lines, ‘Please sir, I want some more,” is said when Oliver is
persuaded by the other boys in the workhouse to ask for another bowl of soup at dinner
time. This is unheard of in the workhouse and Oliver is punished for saying it.

Oliver Twist is a story with many different characters, so it can sometimes get
confusing because you have to keep track of so many people. Dickens describes the
characters very well, and this helps the reader to keep a vivid picture of each character
in their mind.

My favourite character is Mr Brownlow, a kind and generous man, who tries to
protect Oliver from the life of poverty and crime that seems inevitable for him. After
Oliver is wrongly accused of a robbery, it is Mr Brownlow who believes he is telling the
truth, and saves him.

My only complaint was the pace of the book: at the beginning it progresses quite
slowly and then suddenly seems to speed up, leading to confusion at the end. However,
none of these things alter my opinion that it is a very fine novel, and it is not difficult to
see why it has such a special place in English literature.

Question Number One (23 points)

A. 1. What does Oliver Twist tell?
. What do many of Dickens other novels describe clearly?
. How does Dickens help the reader to remember all the different characters?
. What does the underlined phrasal verb “keep track of”’ mean?
. What does the underlined word “my” refer to?
. How does Mr Brownlow behave when Oliver is wrongly accused of a robber?
. When does Oliver say, “please sir, I want some more,”?

B. Literature spot: (2 points) w>Vl asiy

Read the following extract from Hard Times carefully, then answer the
question that follows: Jaaw V1 (8 Jlgad] e wi pi W paidl 1,91
“Life is increasingly difficult for the people working in Coketwon’s factories. The
workers decide to call a strike to protest about their terrible conditions. Stephen




Blackpool refuses to join the strike believing it will make their conditions worse.”

Why do the factory workers decide to strike?
Sl o)l giownll Jloc 5,9 15l)
Question Number Tow: (16 points)

A. Complete the following sentences with the suitable words derived fro mthe

words in brackets and write the answer s down in your ANSWER BOOKLET. (6

points) w199V G Alsl pusall Bliui VU aJdWI Joxdl Jos]

1. Our daily of drinking water should not be less than 6 cups. (consume)

2. People are cutting down trees from the forest there aren't many
left. (consequent)

3.1tis to find different ways to produce energy. (necessitate)

B. Choose the suitable word from those given in the box to complete each of
the following sentences and write it down in your ANSWER BOOKLET. (8
points) wlioll gl 9 aJWl Ullsl] go

| drumbeats, illiterate, sanitation , headlines, electricity |

. One of the main of the daily official newspaper is the
weather forecast.

. Cave paintings and were of the earliest means of
communication.

. Our wellbeing, , agriculture and industry all count
upon a supply of water.

. Wind energy can be converted into by using wind turbines.

C. Study the following sentence and answer the question below. Write the
answer down in your ANSWER BOOKLET. ) )
Jaaw Yl (8 Jlsadl e wi pi @l aloxdl i3l
I have to melt fresh herbs, salt and pepper on the dish before I serve it.
Replace the underlined cooking verb with the correct one.
Ao aolSy b i il wwplad] AolS Jawiawl

Question Number Three (14 points)

A. Correct the verbs between brackets then write your answers down in your
ANSWER BOOKLET. w99V G SVl Jall o

1. Would you ever consider ebooks from the internet. (download)

2. By the time I home, my mother had already cooked dinner. (arrive)
3. I promised my younger sister her to the children museum. (take)

4. While Dana her story, she took a short rest. (reading)

B. Complete the following items using reported speed. Write the answers
down in your ANSWER BOOKLET. Joiioll pMSIL adW! Joxdl Josi
1. I was writing my English assignment when you called.”

Yousef told Muna that

2. “YOU should visit the historical sites in your country. ™

I told him

3. “"How long does it take to get to Petra?”

Mahmoud asked Manal




Question Number Four (10 points)

A. Rewrite the following sentences using the causative verb forms (get/have)
something done. o=l Ldb [ A 828 Jlosiuwl adWl Joodl Josl
1. Go and check your car engine, it's very noisy.

Go and

2. I want to build my new house near my old school.

I want

B. Write sentences which explain the possibilities of the following situations
using the given modal verbs between brackets. )
aulsLidl JesYl Josiwly adWl wdlgall o adloisVl guosi vl Jozdl sl
wowl99VI L I
1. My neighbors decided to move. I am almost sure that they have
bought a new house. (must have)
2. Khaled's tablet is lost. I am almost sure that he hasn't kept it safely.
(can’t have)

Question Number Five (7 points)
A. GUIDED WRITING (2 points)
Read the information in the box below, and then in your ANSWER BOOKLET,
write two sentences about the disadvantages of technology on
communication using the appropriate linking words. )

WYLVl 9 Li>gJ9iSid] Sgluwo & puido> wiSlg adUlll Llogleoll |91
Disadvantages of technology on
communication....

- distract from real life.

- Reduce social interaction.

- Deteriorate language

- Increase loneliness

B. FREE WRITING (5 points)

In your ANSWER BOOKLET, write about 80 words in ONE of the
following. .aolS 80 Wy i sucgogoll o A>lg W\ sl

1. Queen Rania said: “those who had the least to do with climate change and energy
crises are paying the highest price”. Write an essay explaining the importance of raising
people awareness of Earth’s resources and suggest ways for preserving the Earth’s
resources.

2. When people move to another country, some of them decide to follow the customs of
the new country. Others prefer to keep their own customs. Write and essay comparing
these two choices, and support your answer with specific details.
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Question Number One
A.1. it tells the tale of a young orphan named Oliver.
. Life for the working class, especially children, during the industrialization of
England.
. Dickens describes the characters very well, and this helps the reader to keep
a vivid picture of each character in their mind.
. to continue to be aware of something
. The writer of the review.
. Mr Brownlow believes he is telling the truth, and saves him.
. When Oliver is persuaded by the other boys in the workhouse to
ask for another bow! of soup at dinner time.




B. Literature spot: (2 points)
to protest about their terrible conditions in the factories.

Question Number two

A. 1. consumption 2. consequently 3. necessary

B. 1. headlines: oolic 2. drumbeats: Jo.boll ¢,3
3. sanitation: aelell ax.all 4. electricity: b, eI

C. sprinkle .

Question Number Three

A. 1. Downloading 2. arrived 3.totake 4. was reading

B. 1. Yousef told Muna that he had been writing his English
assignment she had called.

2. I told him he should visit the historical sites in his country.

3. Mahmoud asked Manal how long it took to get to Petra.

Question Number Four

A.1. Go and have your car engine checked.
2. I want to get my new house built .

B. 1. They must have bought a new house.
2. He can't have kept it safely.

Question Number Five

A. Guided writing

There are some disadvantages of technology on communication such as
distracting for real life and reducing social interaction. Other disadvantages are
deteriorating language as well as increasing loneliness.

B- Students' own answers




